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Explanations and answers to select questions

‘August’ is an adjective. ‘May’ is not and can not be an adjective. That’s a modal
verb in addition to being the name of a month.

Option (C) is the correct answer. Syllables do not end in vowels, necessarily.
Syllables are units into which a word is divided. Syllables contain a vowel sound,
usually with one or more consonants.

The question asks, the ‘types of articles’ and not the ‘number of articles’. The types
are two, ‘definite’ (the) and ‘indefinite’ (a, an).

It is connected with a past happening and so a past tense too. Hence, only (B) is
correct.

Only the reported speech changes its tense. The reporting verb which is outside
the quotes never changes. Secondly, when that reporting verb, if is in the present
tense, which is the case here (says), then the reported speech, (after dropping off
the quotes), does not change its tense at all. So, option (B) is the correct answer.

Option (C) is the correct answer. Errors/corrections appear in brackets : She don’t
(doesn’t) knows (know) that nothing was (is) allways (always) impossible.

‘Toward’ is not opposite of ‘untoward’; ‘appropriate’ is.

Myanmar and Thailand are not neighbouring countries of India, because they do
not share a border with India. However, they sure are south-east Asian countries.
So, the answer option (C) is correct.

The departure of a train is decided by time and not by the arriving of its driver.




